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Choose the correct answer.

1. Which of the following is not a factor of soil formation?

a) Time b) Soil texture d) Organic matter

. Which one of the following methods is most appropriate to check soil erosion on steep

slopes?

a) Shelter belts  b) Mulching c) Terrace cultivation

. Which of these countries has a population below 100 million?
a)Japan b) Peru d)India

. What is the average population density of the world?
a) 100 b) 300 c) 45

. The president of India holds office for a period of: -
a)6 b) 5 c)4

. A dispute regarding the election of the president is referred to the: -
a) Election commission b) Parliament c)Supreme Court

. The two most important staple food crops of the world are

a) Ragi & Bajra b) Tea & Coffee  ¢) Rice & Wheat

. Cultivation of grapes is also known as
a) Viticulture b) Horticulture c) Sericulture

. 24. The most important function of Lok Sabha is
a) Interpret laws b) Execute laws c) Legislate laws
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10. Match the following

I. Fertile plains Sahara desert

1. Very hot climate South Africa

1i. Extremely cold climate Jerusalem

Iv. Cultural significance Antarctica

v. Diamond mines The Middle East

vi. Oil Hawang-Ho in China

Answer the following question

1. Imagine if you were the Member of Parliament, what issue would you like to address in the

parliament and why?

3. Write one sentence each to explain how each contributes soil fertility?

Micro organisms

Organic matter
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4. Identify the following layers of soil and write down one feature of each.

5. Mark the five most populated countries in the world on the map. Mark the country with the
highest population as 1 along with its name.

6. Give one example each to explain the effect to these factors on population distribution.

a) Geographical factors b) Social factors

8. “Food crops can also be cash crops, but cash crops cannot be a food crops”

Explain the statements.
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9. What are the two differences between farming practices of a developed country and a
developing country?

10. Explain why India, which is developing county, has a higher active population unlike other
developing countries.

11. Compare and contrast the population pyramid in India and Japan in 2015.

Population pyramids in 2015
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